== A
N & o & AF & H Al A
20218 & =04k LBHSIH B3 ES
M BAES
Bu: Nol4C +EBR omg 7E
&?e: =283 ES (9 ® =)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SIS 15,733,977 10,225,204 5,508,773
= 2,774,679
J| 71,606
= 2,728,780
s 10,158,912
ot s=Ha2e odxet 2= 1,891,026 1,966,644 AT75,618
J| 71,606
< 850,000
[ia 969,420
=HEE B35 1,844,606 1,929,499 84,893
J| 71,606
= 850,000
s 923,000
g2 H =E22H 14,000 44,000 230,000
201 2et2d]| 8,500 38,500 230,000
01 At 2teltl 3,500 3,500 0
ogZel stotsisl =& 3,500,000 =14l 3,500
02 =224l 5,000 35,000 A 30,000
OHAYBZHIEOE 223
5,000,000 » 14 5,000
202 O4dl 3,000 3,000 0
01 =2 LHA YI 3,000 3,000 0
ostzgzel g2 3,000,000 » 14 3,000
203 YR =2l 2,500 2,500 0
03 AIMFAH S =AY 2,500 2,500 0
OetZdEs gfFd 2,500,000& x14 2,500
SHAETHH(EX) 71,606 135,699 A 64,093
J| 71,606
207 RO 71,606 135,699 264,093
J| 71,606
01 A3l 71,606 135,699 A 64,093
OgEekatel AEAE o1#EIt
55,000,000& 14 55,000
J| 55,000
OgE&ae &, 42A4 2LUHE
16,606,000& =1 16,606
J| 16,606
=EHEZAN 15,000 20,000 A5,000
207 A RO H] 15,000 20,000 A5,000
01 89 15,000 20,000 A5,000
Ox=Z22g &2 HH Y3 Z2LIHYE &4
15,000, 0002 14! 15,000
SHS MEotE SJAAY(AHH) 44,000 29,800 14,200
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101 14 Hl 15,000 9,600 5,400
04 JIZHHZ22XREES 15,000 9,600 5,400
QdEicte SANE(+=E2F3AE M=xY S
) 5,000,000& =33l 15,000
201 ¢er24| 13,000 8,200 4,800
01 At 22/l 3,000 1,000 2,000
OFHIYRZE S 3,000,000& » 14 3,000
02 2324l 10,000 7,200 2,800
Ox=ZIFSANE, IHSE 3323
10,000, 000& =14 10,000
401 Al HIZ 201 8] 16,000 12,000 4,000
01 A& HI 16,000 12,000 4,000
O=243 Mbictd SIMY BLHY ZAEA
16,000, 000& =14 16,000
A& MEjoHE SJAAY(HEAY) 1,700,000 1,700,000 0
< 850,000
e 850,000
401 Al HIZ 201 Y| 1,700,000 1,700,000 0
< 850,000
s 850,000
01 A& HI 1,693,880 1,693,880 0
OBXE MHGHE S3 ALY
1,693,880, 000* 14! 1,693,880
< 850,000
e 843,880
03 Al S THHI 6,120 6,120 0
OBX&E dMEotd S3A
1,700,000, 000%0. 36% 6,120
CHESE HHEAE 22l 46,420 37,145 9,275
A IEESHUEAE 2l 40,820 31,545 9,275
201 ¢er24] 36,820 27,545 9,275
01 At 22/l 10,820 10,820 0
Ol AlE =9 1,200
— 2= (4L) 2,000& 2004 400
— n-HXH ==& (500mL) 4,000& x1004 400
— 22 == (200mL) 1,000& 400 400
OH4+HEAL SYAX ME 250008 +40% 1,000
OH4HEANE BB+ 24 22
23,0002 *400H 2 920
OH=tH=A4d NE&HEHUH OHE Sl
100,000& = 12& 1,200
ONE2a ¥ & .HH 22I0E ME
30,000& 505 1,500
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o

p=lpal

d23
HHUEH 2#EES
HEd Bd a2t

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ME2 oo (Bx) 663,000 503,000 160,000
= 145,000
< 46,500
s 471,500
401 Al HI R 201 I 110,000 0 110,000
= 55,000
= 16,500
s 38,500
01 A& 8l 110,000 0 110,000
OOIMESE TIHOILAL (RHEAIL)
110,000, 000& * 14 110,000
= 55,000
< 16,500
s 38,500
402 RI2FX=01 M 553,000 503,000 50,000
= 90,000
= 30,000
s 433,000
02 QI EAILSEZ (OIS ) 553,000 503,000 50,000
OOfMESE2 T LMD (sIHXH)
553,000,000& » 1 553,000
= 90,000
< 30,000
s 433,000
M== IOIoHo 101,500 63,000 38,500
201 £B-2dH| 51,500 13,000 38,500
01 At 22l 48,500 10,000 38,500
OOt sE T FRFE =23
5,000,000& » 14 5,000
OtdsE Jlsz2ett 2EX& 5,000
— I e X2 2,000,000& x 14 2,000
—EXEHRH UAMESF 1,000, 000& 14! 1,000
—ZEHRI = 1,000,000& =14l 1,000
—JisZed S84 XN& S 1,000, 000& 1,000
OSUSHXl HAM =2t& ot WsHO0IH X2
500,000& 901 & 4,500
OSUEHXI HALK HMelblE 34,000
— HAN Y Xeldl 50,000& *5000t 2| 25,000
— HALM 2 EHhl 300,000& *303| 9,000
02 2324l 3,000 3,000 0
O0MESE Oollte 2 FIE U 7RFH|
3,000,000 »14 3,000
301 LA S 50,000 50,000 0
12 JIEtE4 3 50,000 50,000 0
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EX: sH3Es
Mz NHAMEHH B ES
chel: el Baal EEREEED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OfMNotM=ES Tol NS ZaE A3 (oKX
nekn) 50,000,000& =1 50,000
OlMESE I Ea(EX) 400,000 400,000 0
== 4,000
= 396,000
307 2Iz2t0| & 400,000 400,000 0
= 4,000
= 396,000
06 22 400,000 400,000 0
O0M=E==2 T2 AAY 400,000,000 x 1 400,000
= 4,000
= 396,000
OfM == Ilol 2 a 7,000 7,000 0
201 LBt 7,000 7,000 0
01 AP 22| d| 7,000 7,000 0
OO0MsS2 T2 42X 7,000,000*1& 7,000
AAZ SHACHH X 20,000 23,000 A 3,000
307 QI2t0| ™ 20,000 23,000 A 3,000
02 Q2B MAIE E =X 20,000 23,000 A 3,000
OXES AdAREO T 10,000
O(AhHetdES=202sEe dazidges 10,000
NAES A K& 6,000 6,000 0
301 et A =2 6,000 6,000 0
09 SHAIAHI X &2 6,000 6,000 0
OXNAHES MHOILE & 1,500,000& 13| 1,500
OXNHAESSHE HE JIEA Z4
1,500,000& 13| 1,500
OXNEs 954 AHOlLE &A
1,500,000& 13| 1,500
O&tdEs d=2nus F4A 1,500,000 13| 1,500
MENH wtME EXAIZE(EX) 40,000 4,000 36,000
= 20,000
== 12,000
= 8,000
101 @124 H] 39,000 4,000 35,000
= 19,500
= 11,700
= 7,800
04 JI2ZtHIZ22NEES 39,000 4,000 35,000
OMEIH netM=2 HA 39,000,000& x14 39,000
= 19,500
o= 11,700
= 7,800
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SN BAESD
M TOIME B#E2E
& MHEd Bl EEREEED)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 1,000 0 1,000
= 500
< 300
s 200
01 At 2t 2l 1,000 0 1,000
OHMENH WHME MHLR =W
1,000, 000& 1 1,000
= 500
= 300
s 200
HENH wetdE E XA 5,000 0 5,000
101 @14 Hl 5,000 0 5,000
04 JIZHHZ2XRHEE S+ 5,000 0 5,000
OU =2 2AefioiE & Xl 1AH|
5,000,000& = 14 5,000
283 sdlZ ZHME(EX) 33,000 33,000 0
< 10,000
[ia 23,000
201 Let24d] 20,000 20,000 0
< 6,000
[ia 14,000
03 A2 E HI 20,000 20,000 0
Od=10002l2 &4&3 ALY 20,000,000& =14 20,000
< 6,000
e 14,000
401 Al HIZ 2018 13,000 13,000 0
< 4,000
s 9,000
01 A& HI 13,000 13,000 0
O&=10002/Z 243 At 13,000,000 * 14 13,000
< 4,000
[ia 9,000
23S SdlZ ZEAY 52,000 0 52,000
101 @14l 24,000 0 24,000
4 012ZtHZ22EE = 24,000 0 24,000
283 xats AHAY M=&Y
4,000,000%33] 12,000
O=2&83 222 =g 2,000,000%32] 6,000
O=3s a2 ==y 2,000,000*33| 6,000
201 L2l 8,000 0 8,000
01 At 22l 5,000 0 5,000
O=2&d= ez, otad sX2el
5,000,000 14! 5,000
02 2324l 3,000 0 3,000
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EX: sH3Es
Mz NHAMEHH B ES
& MHEd Bl EEREEED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
O=3d3s 20, 0ta2d A2l
3,000,000* 14! 3,000
401 AlEHIZL 2 0HY| 20,000 0 20,000
01 Al&H| 20,000 0 20,000
O=d3s 20, OIaZ AlEE 4
20,000,000% 14! 20,000
XEH MED2E ZHAIH (HEAY) 16,860 68,812 N51,952
101 e1214| 6,360 30,312 A 23,952
04 J|12ZtHIZ22NEES 6,360 30,312 N 23,952
OMNANHAZR MR (HEMSX) ol ==
1,000, 000& 33| 3,000
O AN 3&A KXl
70,0003 %43 x 1201 & 3,360
201 et 2,500 10,500 A 8,000
01 AFR 2t 2| bl 700 5,700 A5,000
O+ HWAEM S&EA A2 700,000& 14 700
02 Z2=2=24%4| 1,800 4,800 A 3,000
O24 HWEHM St&EA X2
150,000 x 1200 & 1,800
307 2iz2to| A 8,000 8,000 0
02 QIZIA AAIE E X 8,000 8,000 0
OMEIH netM= HHAE 8,000,000 1 8,000
25 MEIZ22 LAY (HEAIY) 3,200,000 500,000 2,700,000
= 1,300,000
= 1,900,000
401 AlEH|IZL 2 0HY| 3,200,000 500,000 2,700,000
= 1,300,000
= 1,900,000
01 Al& B 3,192,980 496,220 2,696,760
UM 2 METR ZLAY
2,592,980,000% 14! 2,592,980
& 1,300,000
= 1,292,980
O4a =& MEIZ23 ZHAY EX 0]
600,000,000 14! 600,000
03 AlE 2 0HH] 7,020 3,780 3,240
OYUA =25 MEIZ22 XAHAY
2,600,000,000%0.27% 7,020
WS BAI|E A 22,634 27,084 N4 450
st e st 22,634 27,084 N4, 450
SHIMNNEEEZ2 2N 22,634 27,084 N4 ,450
201 LBt Y| 17,634 22,084 N4 ,450
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SN BAESD
Mu: AN AT Y FA
ool BBl Yet CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 9,834 12,884 A 3,050
OgZMeaRg= DXAM H= 5,200
- &Iz 400,000& »23] 800
—=S£5F 300,000& *43| 1,200
—SEE(EE) 800,000& *43| 3,200
OZMERE= ERAU St
50,0003 150 2~ 53] 3,750
OgZMERE=s €8 US0IMHIS 584
Y E== 22,0003 ~12& 264
—XAS0M =2 80& *4,000A 320
OBAMHLLS HAHH 48
300,000& 14 300
02 =224l 7,800 9,200 A 1,400
OLFUHILESXNAN ZEHES 400,000& »23] 800
OZMERES DM L2 7,000
- &Iz 2,600
—==E 400,000 *43| 1,600
—SE2(UEE) 700,000& *43] 2,800
202 044l 2,000 2,000 0
01 2LHO! bl 2,000 2,000 0
OBZNLLLS 4L =1 0fH|
2,000,000 x14 2,000
303 Z& 3 3,000 3,000 0
01 243 3,000 3,000 0
OostgdieRg=s =+ dE=
3,000,000 x 14 3,000
HEs Holed 23 4,277,749 2,700,889 1,576,860
= 2,259,679
< 506,280
s 1,511,790
thorerd |Xxz2el 4,277,749 2,700,889 1,576,860
= 2,259,679
< 506,280
e 1,511,790
HileEs&E &2 41,814 24,314 17,500
201 Yer2 2t 40,814 23,314 17,500
01 At 2t 2l 29,014 16,514 12,500
OZEFINI FEIM =25 L ABE 2
2 1,000, 000& =1 1,000
OUJIHEANYE LA SHES 2
1,000, 000& *20H £~ 20,000
OUIIHEAE 2EIIER M
25,0003 402 1,000
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- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
OAFMESANE(=EAN S) ACEH II=E 2
300,000 x3H 900
ootz Diw (g B =
1,200,000 =14 1,200
OAF QAT A =2 45,700 203 914
ONeloesE2 A =52
200,000 x200H A~ 4,000
02 23244 11,800 6,800 5,000
OXNS2FLEI KK 2 10,000,000 14 10,000
O8I S (&I, S)
150,000& x 120 & 1,800
202 o4 | 1,000 1,000 0
01 2L I 1,000 1,000 0
OUIIHBAE H2 L &Y ALEE 0f
Hl 1,000,000& =14 1,000
oEsdy =5 54,000 229,667 N 175,667
401 A& HI L 2 0HHI 54,000 204,000 A 150,000
01 A& H| 54,000 204,000 A 150,000
otlleg=sda 220l 84X
18,000, 000*3 74 &~ 54,000
osd3y &4 51,334 0 51,334
= 15,400
= 35,934
201 et 9| 9,334 0 9,334
= 2,800
= 6,534
01 AR 22l ] 5,334 0 5,334
ol|g=sda 829 A2 2¢ 5,334
o=t 1,600
= 3,734
02 2224 H| 4,000 0 4,000
OMJIEsdY 29 8322
4,000,000 = 1Al 4,000
& 1,200
= 2,800
307 2iz2to| & 42,000 0 42,000
& 12,600
= 29,400
05 QIZtR E 2 42,000 0 42,000
OWJILEsdd RANES 42,000,000 «1A! 42,000
o= 12,600
= 29,400
AHE FANAEE SXAE EX K& 198,000 225,000 A 27,000
= 110,000
& 26,400
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AN EIESH
M YHE Hod 28
S UoEad si2el (SH9: &)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
o 61,600
402 RI2EX20| A 198,000 225,000 A 27,000
= 110,000
< 26,400
s 61,600
02 QI EAISEZ (OIS ) 198,000 225,000 A 27,000
OL72 FAMMAE SXAIE &X X2
198,000, 000& =1 198,000
= 110,000
= 26,400
e 61,600
AF NBXNSHAZTI X 30,000 0 30,000
= 10,500
s 19,500
401 A& HIZ 201 Y| 30,000 0 30,000
= 10,500
s 19,500
01 A& HI 30,000 0 30,000
O2dFHAlg NHSHAEX &I 30,000,000%14) 30,000
= 10,500
i 19,500
JI=Hs S 12,500 11,700 800
201 Let24E] 8,000 7,200 800
01 At 22l 5,900 7,200 A 1,300
OJIZHSIHE AIRYR =& 5,000
— JIEHS NUXNALE (DS AEE) & A
HZolE 222 € =% S MH 5,000
5,000,000x14
OJI=8s dRFH0 OE =Sl
500,000* 14 500
OO0IEXs X BHEJtA EIIZ AL S 2|
50,000& = 83l 400
02 =224l 2,100 0 2,100
OS= o2 2 YT SIIHI4+42
2,100,000& 14 2,100
202 o4dl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
OJI=dsiis g2 F& ol 1,000
— JIZF®e 8l ARE BAZE ZHQ!
2 HEOLA S HR =& o4 1,000
1,000, 000% 1<
301 LEHZ 3,500 3,500 0
09 SALAHIX RS 1,500 1,500 0
OJIZFHsIHE &AL 48X E&3 X2 1,500
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AN EIESH
M YPHE Hoed 248
2

Ee: tolEtd X2el (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— J|Svisl Bl AEE BAROE BA &
A SHALAHI B & 1,500,000& =1 1,500
12 JIEtE2 A= 2,000 2,000 0
OO AEE E=X4 2,000,000 1 2,000
JAEBIER2E XK (BEX) 8,000 6,400 1,600
2 4,000
= 4,000
201 2Et2H Y| 8,000 6,400 1,600
= 4,000
= 4,000
03 Al HH| 8,000 6,400 1,600
Ol AEIEE2S UWER3a X&
8,000,000 1 8,000
= 4,000
= 4,000
ISHSHES EFAZQOIER AM(EX) 40,000 44,000 A 4,000
= 20,000
< 8,000
= 12,000
301 dEtE M= 40,000 44,000 A 4,000
= 20,000
< 8,000
= 12,000
12 JIEtE &= 40,000 44,000 A4 ,000
OJISHEHS BAZAER
40,000,000 =14l 40,000
= 20,000
< 8,000
- 12,000
NS BEAZQEH(EX) 358 268 90
= 179
= 179
301 et A =2 358 268 90
= 179
= 179
12 JIEtE A= 358 268 90
OXsX EFAZQER 358,000& =14 358
= 179
= 179
2 ASX HIsotA H2ZAE 18,943 5,000 13,943
201 et H9d| 18,943 5,000 13,943
01 AtR 22l | 2,000 0 2,000
OSHAWEIA SE L LEFAN B2 2
L] 500
OS2 XsIIA ANEEZY I=H| 1,500
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 3322l 16,943 5,000 11,943
OXsxt 2 SEAAE R E=H|
16,942, 785% 1 16,943
2HIARA HEIA H2AL(EX) 1,970,000 960, 860 1,009, 140
= 1,093,000
< 263,100
s 613,900
301 LEd = 640,000 586,720 53,280
= 384,000
< 76,800
s 179,200
12 JIEBHE4 = 640,000 586,720 53,280
OL2AST XJIHI X e
640,000,000& » 14 640,000
- 384,000
< 76,800
s 179,200
402 QI2H X201 M 1,330,000 374,140 955,860
= 709,000
< 186,300
= 434,700
02 QI EAILS EZ (OIS ) 1,330,000 374,140 955,860
OL2ZS% OPF 25 X8
380,000,000 » 14 380,000
= 190,000
< 57,000
fia 133,000
OPM-NOx SAIMZ&X 22 X&
30,000,000 »14 30,000
- 15,000
< 4,500
e 10,500
OA4I|A OPF 22 XI& 110,000, 000& =1 110,000
= 66,000
< 13,200
s 30,800
OALIIAH A& WA X 330,000,000& 1 330,000
= 198,000
< 39,600
s 92,400
OLPG st Xt A X+ X
480,000,000& » 14 480,000
= 240,000
< 72,000
e 168,000
ISR FOHXIA(212H) 1,522,000 480,000 1,042,000
= 919,000
= 180,900
= 422,100

- 340 -




SN B#ABSD
HE: WHE HIIEY B
2

S UoEad si2el (=& J)
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402 BI2FX=01 M 1,522,000 480,000 1,042,000
= 919,000
< 180,900
s 422,100
02 QI EAILEZ (01X S) 1,522,000 480,000 1,042,000
OISR PHAIH (22
272,000,000& » 14 272,000
2 119,000
= 45,900
s 107,100
OXIISHEX FOHKIR(212H)
1,250,000, 000& 1 1,250,000
= 800,000
< 135,000
s 315,000
HIINSA R (SS) 138,000 0 138,000
= 30,000
s 108,000
405 XHobF S HI 138,000 0 138,000
= 30,000
[ia 108,000
01 XY 2 ZF S| 138,000 0 138,000
OMIISEBX 2HNA(2Z)
98,000,000& » 14 98,000
2 14,000
s 84,000
OIIGEXN THIA(SZ)
40,000,000& » 14 40,000
2 16,000
s 24,000
M| OIEX E=S ALY 18,000 11,500 6,500
= 9,000
s 9,000
402 QI2H X201 M 18,000 11,500 6,500
= 9,000
s 9,000
02 QI 2 AL EZ (01X TH ) 18,000 11,500 6,500
OHEIIOIEXN ESALZ 18,000, 000& » 14 18,000
= 9,000
s 9,000
HIIZEI| ROPXIR (212F) 60,000 0 60,000
2 30,000
< 9,000
i 21,000
402 RIZER 20| A 60,000 0 60,000
= 30,000
< 9,000
e 21,000

- 341 -




2N

o YEE (B 2
&l |83 =Xl o &)
5 - 4
A FB B (EN) - HRAY - BES e 2
02 QI EASEZ (OIS ) 60,000 0 60,000
O&IIZAI| FOHXR(RI2H)
60,000,000 » 14 60,000
= 30,000
< 9,000
s 21,000
OIHSX 2 SHHY A L ZAI(EX) 52,400 57,180 A4,780
= 26,200
s 26,200
101 @144 Hl 44,400 42,880 1,520
= 22,200
s 22,200
04 JIZHHZ22XEES 44,400 42,880 1,520
OOIMIH R 2HAIEE Q124 H] 44,400
- == 1,744 ,000& x2H 1004 & 34,880
= 17,440
i 17,440
— ZUgAY 130, 000& »2H =101 = 2,600
= 1,300
s 1,300
— M3EE 200,000& x2H 1004 & 4,000
= 2,000
s 2,000
— ZESIH 800,000& x2H 1,600
= 800
s 800
Al 2tel =5 660,000& x2H 1,320
= 660
s 660
201 £B-2dH| 6,500 4,800 1,700
= 3,250
s 3,250
01 At 22/l 3,400 3,400 0
O0IMZREd SHH? 2AES I 7L
2,400,000& 14 2,400
= 1,200
s 1,200
OOBIMEZR ZAE 2500 HE S&HI
1,000, 000& =1 1,000
= 500
fia 500
02 =224l 3,100 1,400 1,700
ODIMEX Z2A =E&H S A2l
3,100,000& » 14 3,100
= 1,550
s 1,550
202 O4dl 1,500 1,500 0
= 750
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2N

X{ XH -
S =

Ee: tolEtd X2el (2 &HH)
(o
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
o 750
01 2L I 1,500 1,500 0
OO0IMIHX ZAISH S0 2 ol
1,500,000 x 1 1,500
= 750
= 750
OMISA TS 35,000 46,500 A 11,500
201 LBt ]| 35,000 46,500 A 11,500
01 AP 22| H| 35,000 46,500 A 11,500
O0tA A XEAY 15,000,000 x 1 15,000
OO0HISH X 23 AIRYR =&
10,000,000 x 1 10,000
OAar=XF 20 10,000,000& 14 10,000
2 MsABde ESAY 13,000 0 13,000
= 7,800
= 1,560
= 3,640
402 SI2FXH=20| ™ 13,000 0 13,000
= 7,800
& 1,560
= 3,640
02 QIZEXIEANSE X (0| XM THL) 13,000 0 13,000
OJlEdEa =AY B2 13,000,000% 14 13,000
= 7,800
& 1,560
= 3,640
SHE N OIMESH XA 6,400 0 6,400
& 1,920
= 4,480
206 M = dl 6,400 0 6,400
& 1,920
= 4,480
01 X2 Hl 6,400 0 6,400
OAFHZ OIM2M XNIAL 6,400
& 1,920
= 4,480
HOIX STAAE HHEXE AX| 8,000 0 8,000
201 et | 8,000 0 8,000
02 2224 8,000 0 8,000
O&FEIX SHAIE CGHHEXE &X
400,000 2004 2~ 8,000
=2 xesdE &= 2,708,308 1,371,680 1,336,628
= 350,000
- 2,358,308
IIEEZ23HM2AE 222 2,708,308 1,371,680 1,336,628
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2H: BEESDY
Hu: JlEELdelse #2
H?: N=EI3SHEAE 222
SA BB O () - MM - HES 0l &+ o4 il
= 350,000
= 2,358,308
NEZESSHAAE 22 29 1,839,308
101 14 dl 4,000
04 JIZHHZ2XRHEES 4,000
OM=&g o2¢ 2,000,000 14 2,000
OE&X =X MA € == 22
2,000,000 x 14 2,000
201 L2l 530,708
01 At 22|l 50,500
OJ=E2 33Xl HAZ2F Sl
6,000,000 » 14 6,000
OMB4A 2ESE Y 3,000,000& x14 3,000
Oogza &7 2¢ 300,000& »23| 600
oxg=s 2g 1,750,000& 14 1,750
O&gst 7g 1,750,000& 14 1,750
O&F=J gz 30,0003 *2CHx128 720
odlol ¢tz 250,000 *4CH 1 1,000
OANEHE X224 2,000,000 *11 2,000
ONERL Vss 82 24 4242
5,000,000& =14 5,000
@)= 28,680
— o= 60,0003 x 1 113 6,780
- =X 60,0003 x 1 «3652 21,900
02 83323l 480,208
ONE=2adMelAld Jisdd 75,808
— FI| =R 28,402
—AN&g8lsd8H 47,406
O=20 |FH 1,000,000& 1 1,000
OgeE U SFU 4,200,000& 14 4,200
O&J|etd e el ==+35  7,200,000& x14 7,200
O20 RA2a 3,000,000& x14 3,000
OgRE g 2l 4,000,000 14 4,000
O&II3 29,000,000& «12& 348,000
OofI8es AIEZ 50,000& x12& 600
OHMelAle & EHl |X2el
20,000,000 x 14 20,000
OAgotdE 3| 100,000& 14 100
O2gAld 3 2 22 2,000,000& x 14 2,000
Odot=ER= 4,000,000 =14 4,000
O&AMN &5 1,500, 000& =14 1,500
OFA 28 HAEH 5,000,000& 14 5,000
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SN #EESD
Bu: JlERLAelsY HE
el =233 HelAE 2e2d (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFgs HeEl =3 M =2
800,000& » 14! 800
OQotM ZHl 7¢ 3,000,000 »14 3,000
202 oddl 5,000 5,000 0
01 SLHOYI 5,000 5,000 0
ON=E2r 83Xl 22F&  5,000,000%1 5,000
206 M= Hl 340,000 170,000 170,000
01 =8l 340,000 170,000 170,000
ONE2=BIHANE %E 29
250,000,000& 14 250,000
Ozd M) 2HH 7L 55,000,000 =14l 55,000
ONEESSHIUANE R ALY
20,000,000 » 14 20,000
OE=JI6dUE WX 15,000, 000& =1 15,000
207 O] 3,000 0 3,000
01 A7 39l 3,000 0 3,000
O X2E el Ay 849
3,000,000& 14 3,000
307 21201 A 510,000 450,000 60,000
05 RIZt2IEt = 510,000 450,000 60,000
ONfEEaXel skl |AeX™e 9]
170,000& *3,000E 14 510,000
401 AIEHI L 20 446,600 272,000 174,600
01 A& HI 445,000 270,000 175,000
ONEZBoXMANE A=E= E=3A 50,000
O&XelMNgx &4 50,000,000 » 14 50,000
Oz g2 W 45,000,000& * 14 45,000
O&Xel MFRXEX AJ2S ML A
40,000,000& =14 40,000
O&tLLMI] OIS 228 Wi
30,000,000& =14 30,000
OAFHMZAE FANE=> 40,000,000& » 14 40,000
ONEEaXMlAE JIAHEH RANE=
70,000,000 14 70,000
O&dJl & NHSHNH &8 "2+
50,000,000 » 14 50,000
OHIBLEMZAE &4 20,000,000& 14 20,000
OJIEtEH |XE=+ 50,000,000& » 1 50,000
03 A& S THHI 1,600 2,000 A 400
ONE2LHEAANL AES SLTA
500,000 » 14! 500
OJN=2s X2l MFX MII2S HESA
300,000 =14l 300
OJIAEH |2 500,000& » 14! 500
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2H: BEESDY
B JE2LHelsY o5
S@He: IIEER33H2ANE 22 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O&I £ XsHAH &8 A2
300, 000& 14! 300
YAF NEREBIHAANL SHAL 869,000 0 869,000
= 350,000
= 519,000
401 Al B 20 HI 869,000 0 869,000
= 350,000
= 519,000
01 Al& H| 866,000 0 866,000
OJlg & AAEH 249 866,000, 000* 14! 866,000
= 350,000
= 516,000
03 Al 201l 3,000 0 3,000
OJlg & AANEHN 249 3,000,000% 14 3,000
Stedelsees 2,232,180 2,153,310 78,870
otx=xel &2 2,232,180 2,153,310 78,870
ot XelAld 22 29 2,232,180 2,138,310 93,870
101 @121l 5,000 5,000 0
04 JI2ZtH 22 XNEE % 5,000 5,000 0
OM=&g o8l 5,000,000& =1 5,000
201 L2 | 857,780 653,460 204,320
01 AtR 22l bl 47,580 44,260 3,320
OARa 2928 ¢ 4,000,000 4,000
ogxa 372 200,000& *23| 400
OTMS 89 HIAaZ2R 2 3,000,000& =1 3,000
Odt=xels88 82N =2
8,000,000& «1 8,000
Oo&gs P2¢ 350,000& *5H 1,750
O&dsg P2 350,000& «5H 1,750
og= 28,680
— X 60,0003 x1H *113L 6,780
- =4 60,000 18 +365 21,900
02 33249l 810,200 609, 200 201,000
OdJ|etE2Ze| =2 350,000& 128 4,200
OANEZE Y FHbHl X2 30,000,000& »1 30,000
Ox=Z23dtx=XclAlAd e
10,000,000& x12& 120,000
OAsa HFE2e 29H 20,000,000& =14 20,000
ootdgsE #*¢ 1,000,000& ~1 1,000
OxXd=+ sl 8,000,000& =1 8,000
OFAMNAE & HA 299 5,000,000& «1 5,000
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EX: sH3Es
HM: SlaHelsHESE
ol stamel AU (ol @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OANEZE HI| 84 %2
4,000,000 *23] 2K 2 16,000
OLAZBZZBole=XHeAIE HIR=S
15,000,000& = 12& 180,000
ObtsstE=MdelAlE 8IIe3
12,000,000& x12& 144,000
OotsdtE=H™elAlE Jls= & |
10,000,000 *4 04 2 40,000
O Z2ot4HelAld I8 EH|
54,000,000 x 104 & 54,000
Oe=2Z2Z220t4HelAld I8 EHy|
51,000,000 =104 & 51,000
OLex=2Z2Z220t4HelAld 25 J|=&CHY|
21,000,000 * 104 & 21,000
OLAZBZB6I4TAIE 22|& SUEI ==
= 58,000,000 23| 116,000
202 04| 5,000 5,000 0
01 2L HI 5,000 5,000 0
Oltsole: & SHEZAE M8 S 20|
5,000,000 =1 5,000
206 M = dl 105,000 98,000 7,000
01 XHZ H| 105,000 98,000 7,000
O£sotE=Hdel 42 2 50,000,000& =1 50,000
OdtE=XMelAE INHFLHAA L RAES)
10,000,000 1A 10,000
OFZEXUNS=HI|(TMS) 85 & A2E R¢
10,000,000 *2JH 2 20,000
OE=£x) 6= 2 A 10,000,000& 14 10,000
OHIATIN RA(ERS, ==EHIZ 5)
15,000,000& 14 15,000
207 I & d| 30,000 9,500 20,500
01 24| 20,000 2,500 17,500
OYAURTTo4TAS 22I0He BIgy L &
s 29 20,000,000& =14 20,000
03 A&l o 24| 10,000 7,000 3,000
OMBA A2E FY(ZNE, A% S)
10,000,000& 14 10,000
307 QI2t0| ™ 198,000 82,000 116,000
05 QIZtREZ 198,000 82,000 116,000
Oxotx=sd XN |AEH2 S|
170,000& x400E 14 68,000
OFZXNS=HI|(TMS) AEZEIHI (LA, 24)
65,000,000 *2H A 130,000
401 Al HI L £ 0HHI 231,400 242,350 A 10,950
01 Al& b 230,000 240,000 A 10,000
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AN EIESH
Bu: saHelsHAE
Sl stamel +EUs CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIAEH |X 2= 30,000,000 x14 30,000
O&IIZHl |RA 2= 25,000,000& » 14 25,000
ONSHUHEH |RANE=+ 20,000,000& 14 20,000
Ox=ZIH=) |XNE=+ 15,000, 000& =1 15,000
Ost=HelAldg =4 40,000,000& » 14 40,000
OOtE2dt=XelAld Jls&c HH ALY
100,000, 000& * 14! 100,000
03 Al SR THHI 1,400 2,350 A 950
OJIAHEH RA 2= 300,000& 14 300
O&JII&Hl &€ TUSHHLEH |X 2=
300,000& 14 300
Odt=HelAlE HE A 500,000& 14 500
Odt=HelAld =4 300,000& 14 300
402 RIZ2HXt20l ™ 800,000 880,000 280,000
03 212t EF AL HI 800,000 880,000 80,000
OZaSIot=T AL 22|t 22l
700,000,000& » 14 700,000
OYaESEot=E AL 2 2LHSH &
=) 100,000, 000& 100,000
HYR2IZH (BHEES D) 57,720 76,440 A 18,720
JlE3l 57,720 76,440 A 18,720
32 J1234l 57,720 76,440 A 18,720
201 Let24E] 24,840 32,400 AT,560
01 At 22l 24,840 32,400 AT,560
Ol &t 19,872
O=&Hl Sl st 4,968
202 Odl 28,080 38,400 A 10,320
01 = LH 4 bl 28,080 38,400 A 10,320
OZ A0 &t 28,080
203 YR =&l 4,800 5,640 A B840
04 FN2ELSFZTH 4,800 5,640 A 840
OZEsh FA2E 400,000& 123 4,800
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